AEEHRKXEFELIS (£D2)

R B # W £ B — &8 X%
. 1,210,000 H
G = RO & % 3 ’ ’
BHMES % it & % 1,267,200 M B O 1100.000 F)
sxES| AEBH % 18 S PR @B o0 n [REEAB M KA A
R LR
T ¥ K|AEBEEEIS RIS HIRMME . o |mwmaEAAE| ems & 1A 2 B
82 o YN Kb & A #L il #& - M = # «fM 5 & 11 A 27 H
E%iﬁ,’ﬁ g/DEFﬁ _‘LJEET iﬂ_ﬂ,lﬂ EHE§4%1E*§ ( _ II_I) E 1T vﬂ FEﬁ _ %*ﬂ6¢1ﬁ315
E:3 £ Z n m B & BEREINE BERECEE
(#) FIREE 1,250,000
INIEE () 1,200,000
(B)EREE 1,100,000 EILRESE
UTHH =

H/H| B H|H|H

H/H B|H/HB|H|H|H|H

H/ B B|H/HBB|H|H|H|H




